Calculus AB
Lesson: Monday, April 6th

Learning Target:
Students will integrate Natural Logs

Review:
U-Substitution and Integration (read)
U-Substitution and Integration (video)



https://www.khanacademy.org/math/ap-calculus-ab/ab-integration-new/ab-6-9/a/review-applying-u-substitution
https://www.youtube.com/watch?v=1ct7LUx23io&feature=youtu.be

Practice:

1 « Review DERIVATIVES of natural log functions with these practice problems and answers (Section 5.2).
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2 « We often rewrite problems to be in the form of a polynomial. We know to use the integral format for
natural log when rewriting and the exponent is equal to -1.

Represents the integral of a polynomial:

lrll ;
Ju‘du—n+1+(_, n# -

| |
e = In il ' ==
I: de=Inlu|+C A

!



Notes and Examples
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Try this one on your own... Show the work needed to
get the answer.
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Long Division Examples

In order to evaluate some functions, we must rewrite them first. Long division is
one way to rewrite a rational function.
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Another Long Division Example
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Proving Integrals for other Trig Functions:

We already know the integral of sin and cos. We can now prove the integrals for
the other trig functions.
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Proving Integrals for other Trig Functions:

The proof for sec and csc are a little tougher. Shown is the proof for the integral of
secant. Cosecant is done in a similiar way.
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Practice

Try these problems from the textbook:

p. 338 #5,11,17,25,33,51,63

Extra Practice with Answers



https://www.math-aids.com/cgi/pdf_viewer_1.cgi?script_name=calc_indInt_subs_explog.pl&url_topic=Calculus+Worksheets&dir_name=Calculus%2FIndefinite_Integration&logoxpos=450&logoypos=4&numProbs=8&log=1&poly=1&explog=1&subs=0&language=0&memo=&answer=1&x=165&y=16

